HEDYU—X

Chamfering Series

Uratorimen SOLID

ISMUXSOLID

1%

EBE =7
4
MH-1(M3-M4) @%W@g
MH-2(M5-M6) ‘ :
780 (2fAA) a ]
M3/1/8 OEeyhRERDEATE.
M4-M5-M6/218 OM3. M4, M5, MBDAEREDS A Vv T,
LF -
K-1.5 @
280M <
-
[
B
fml_%‘)
| =
H 2 c
= ™ @
«
B 5
L] o
@D
¢D2 o OE g€ N o
E Model. No. EAUNE
.‘!“ UMHS-M3 1.06mm 45°
R UMHS-M4 1.27mm 45°
“I‘r UMHS-M5 1.63mm 45°
UMHS-M6 2.12mm 45°
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Madel. No. oD | ¢De | ¢Ds | o¢d L 2s en | ens | s T E | 3R | AR [G)
UMHS-M3 1 2 4 25 10 51.5 40 115 10 1.5 8 1 075 | 075 | 45° 20,240
UMHS-M4 1 26 5.2 33 10 547 40 14.7 13 1.7 11 1.3 0.9 0.9 45° 20,360
UMHS-M5 1 32 6.5 42 12 57.9 40 17.9 16 1.9 14 1.65 1.15 115 | 45° 20,930
UMHS-M6 1 4 8 5.0 12 61.3 40 21.3 19 2.3 17 2 1.5 15 45° 20,930
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X % b % b (f2) 0.01~0.03 0.01~0.03 — — 0.01~0.02 0.01~0.03 0.01~0.05 0.01~0.05 —
1 815 B (m/min) 30~60 20~40 — — 20~40 30~60 40~80 40~80 —
BRE&EH(r.p.m.) 4,000 4,000 - — 3,000 4,000 5,000 5,000 —
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UMHS-M3B B Pk F B &L &L 1 19,320 19,320 1
UMHS-M4B B Tk F 4B & L & L 1 19,320 19,320 1
UMHS-M5B B Tk FABEE & L &L 1 19,320 19,320 1
ﬁ UMHS-M6B B Pk FRBEE & L & U 1 19,320 19,320 1
UMHS-M3BC BC Pk F BT TiASN & L 1 20,360 20,360 1
UMHS-M4BC BC Tk F BT TiASN & L 1 20,360 20,360 1
UMHS-M5BC BC P F BT TiAZN & L 1 20,360 20,360 1
UMHS-M6BC BC Pk F BT TiAZN & L 1 20,360 20,360 1
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